
[UDP-Glc]/[UDP-Gal] α1 α2 α3 log
10

[Total]

predicted 11 ± 9 5 ± 4 .001 ± .002 −2.87 ± .03
90/10

actual 9 0 0 −3

predicted 2.3 ± .6 0.9 ± 0.3 .0004 ± .0002 −2.89 ± .03
80/20

actual 4 0 0 −3

predicted .71 ± .09 .01 ± .02 .0010 ± .0007 −2.95 ± .03
60/40

actual 1.5 0 0 −3

predicted 0.8 ± 0.2 .05 ± .09 .0005 ± .0004 −2.91 ± .02
40/60

actual 0.66 0 0 −3

predicted 0.7 ± 0.1 .05 ± .05 .0026 ± .0007 −2.83 ± .02
20/80

actual 0.25 0 0 −3

predicted .20 ± .07 .01 ± .02 .0031 ± .0007 −2.85 ± .03
10/90

actual 0.11 0 0 −3

1


